= .
H E% §§ - F *xﬂ%Faﬁ I B AREEETHBD ?
MBS C T DD ?
B W 7K A & ~THREZIOBZ~
— - o I <1 - 245>
815 N - B~ - 4&---14:55
15 @ & |wEnsrn| g | WL | mm
PR SIN A = A 15100
8:30 =
DS - BRER <3EE>
8:45 = 1 85 R B - 7K--14 :55
N ~+15: 00
9:30 =
1097 3ER K- Fee15 1 50
9:40 %2 BB
G . <4 -5 - 6EE>
1 5 DR B-15:50 (&BERL)
10:40 = 3 IR A--15:00 (BBERL)
. KK -E (BEEEIGBD)
LG 1 053558
11:35 o
% 4 B IR B TRE LI
12:20 BB . A= 1%H  16:35
13:10 s s =im =D 9RBH4a 16:35
V=ti V=ti V=ti V=ti
1395 ﬁ&g% 10B9H 16:35
: i E & BER R 11844 16:15
13:50 % 5 H% BE 128 16:10
14:35 - - 1A%4a 16:35
Bons 1093558 Bone 107355%ER 28948 16:35
14:45 ) .
— 14:55 — 5 6 BPR — 15:00 &5 6 B5PR 38%AE 16:35
RER - U557 - E6HIR R 15.10 1
15:30 oo | BODS pme . | OOR
15:45 BE=- L 545 -
| SR
IRARRAHE B 5 HREH)

XRAE LRDORBATIN, THEEFTEDBIEESNHDET,



